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LCOIAIE AHIOIEX MA=N 55,000 40,000 15,000
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01 A= =H] 55,000 40,000 15,000
OZELdEAA UYL I AIE2SH
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S 8,000 7,800 200
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= 183,000 83,000 0

= 183,000 183,000 0

= 189,675 189,675 0
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2 1,836,630 1,836,630 0
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= 183,000 83,000 0

= 183,000 83,000 0

= 189,675 189,675 0

= 155,235 228,435 A73,200

2 1,836,630 1,836,630 0

01 AEI BB X 253 2,547,540 2,620,740 AT3,200

SELII=EIVE 1,735,800 1,809,000 AT83,200
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A2Y L 01SE 2 AYAY 1,872,110 1,899,110 A27,000
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=2 591,719 487,276 104,443
= 295,859 243,638 52,221
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01 BIARERE 1,183,438 974,552 208,886
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2 1,659,773 1,666,715 6,942
COIRUAE X 2,122,453 1,713,897 408,556
= 1,678,421 1,362,367 316,054
2 444,032 351,530 92,502
301 Yt A 2,122,453 1,713,897 408,556
= 1,678,421 1,362,367 316,054
2 444,032 351,530 92,502
01 AFEIZ &= 2513 2,122,453 1,713,897 408,556
OZHI B EAIY 2,122,453 1,713,897 408,556
—SZ2YUR N 141,629,0002 141,629 74,769 66860
= 59,399 59,399 0
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2 28,456 29,400 944
307 212+01 & 284,555 294,000 A9,445
2 207,644 235,200 AT7,556
= 28,455 29,400 ~945
2 28,456 29,400 £944
SENEES 284,555 294,000 A9,445
SELCEINL 284,555 294,000 A9, 445
~JIZMEADX ANLESH 284,555,0002 284,555 294,000 A9, 445
= 207,644 235,200 AT7,556
= 28,455 29,400 ~945
2 28,456 29,400 A944
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= 81,830 81,830 0
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2 820,841 919,341 98,500
301 YBHEAS 995, 190 1,090, 190 95,000
= 81,830 81,830 0
= 92,519 89,019 3,500
2 820,841 919,341 98,500
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2 1,167,454 1,167,454 0
301 YBHE A 14,593, 183 14,453,580 139,603
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= 291,863 152,260 139,603
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= 7,940 10,440
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2 9,380 8,260
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= 216,854 217,799
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